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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

oere frariyza Fom sSEi See

(a) Write a triangular matrix.

90! fagal fees foral |

(b) State the condition under which the
production function Q=AK%IP is a
linearly homogeneous production
function.

Q = AK*IP B ToRICH SEARE Wi
AP GRAMH Tl RRR TS o |
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(c) The function f is called homothetic if
fx)=fy)= fltx)= f(ty), t>0.

( Write True or False )

f TEAIC0! TR =¥ I
f(x)=fly)= fltx)# f(ty), t>0.

( T @ =o1e) & )

(d) Give an example of an implicit function.

OBl WEHES T Snizad |

(e) Write an identity matrix of order n.
nAR 9Bl SqoR (e &30 |

(/ Economists call Lagrange multiplier

a
( saddle point/shadow price )
( Fill in the blank )
Algg ¢ AT qfAfforeEm I«
|

( *rfta /=i e )
( AR DR ]9 41 )
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( 3 )

(g9 What is the norm of the following
matrix?

wee i (eewor afsaw & 232

s )

(i) -2
(i) -1
(iii) 10
(iv) - 10

( Choose the correct answer )

( ®= SGI! AR Sfersar )

(h) State mathematically the necessary
condition for equilibrium of a price
discriminating monopoly market.

R Rretire IwoR IWIT SIFg R
AR AwrEam aAfafes vt for |

(i) If we interchange any two rows or two
columns of a determinant, then its
value remains unchanged.

( Write True or False )

M G5t g 551 N I {o! T AP T
=7, (03 R T G AUE e o A=l = |

( 7o) & P19 fordt )
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( 4 )

() What is the trace of a skew-symmetric
matrix?

fofs-fis ey SqEe & 237

2. Answer the following questions : 2x5=10

wore fral Ty Oed fr

(a) Distinguish between a scalar and a
vector.

e A 1 AFer PR TEs N o

(b) Differentiate x* +y? =25 implicitly.

EfifEe W x? +y? =257 WA fafw
4|

2
(c) For what valueof B, A= B =l ca
2 pB+1

symmetric matrix?

' 2
B B IR IW A=[g B ‘1] Bt RS

B+1

s 237

A23/753 ( Continued )



BIKALI COLLEGE LIBRARY

(d) What will be the solution of the
following  difference equation by
iterative method?

oo il (o% ATNFIMBR CMesff Fafos
g 5 73?2

Y1 -0-3y, =0

(e) What value must x have so that the
following matrix A does not have an
inverse?

oS il A (TR AfstE F999 IR 3
T4 5 22 /R 2

A=[1 2+x:| ‘
x -1

3. Answer the following questions (any four} :
5x4=20

Wﬁmmwm(ﬁm_sﬁm):

(a) Find the extreme value of the following
function :

oS gl TG 53N TN fAfE 9

Z=e2*-2x+2y%+3
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( 6 )

(b) Calculate the 3x3 matrix A= (@j)ax3
with a; = 20-].

A =(aij)3,¢3 M ﬁq'-q | ﬂﬁ
a; = 21—j 2|

(c) Show that the following function is a

homogeneous function of degree 5

Wﬁmmﬁtm%mquﬁl
Gysa

3 3

X -y
(x, y) =
flx, y) /2 4 172

(d) Using the properties of determinant,
show that

frdrasr ot o IR eysAa @

1 1 1
a b c|=(a-b)b-c)ic-a)
a? b? c?
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( 7))

(e) For F(y, x)=0, is the following implicit
function defined around the point
y=3,x=1)7?

Fly, x) =03 Q@ oo frmt wgfiZs w=1=co!
(y=3, x=1 Rrqs w12

x3 —2Jvc2y--3xy2 -22=0

() Show that the following function is
continuous but not differentiable at

x=2 :

wore il Tl x =2 e wRkifean g
SN A I s

flx)=x-1, x<?2
=2x-3, x22

4. Answer the following questions : 10x4=40
were frml eppiyRd Tes |

(a) A monopolist produces his product in
two different plants and his total cost
functions are given by

TC, =2o—4<,_)1.+--;-c912

TC, = 40 - 8Q, + Q3
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( 8 )

If the average revenue function is given

by AR=40-Q where Q=0Q, +0Q,,
then find profit maximizing outputs
.and maximum profit. 5+5=10

GGy Qo RrereiR 1o for avws B
T4 ANGR Y5 W T 2
1 o
'I‘Cl =20—4Ql +§Ql
TC, = 40 - 8Q, + Q32
M e WW T AR=40-Q TS

Q=0,+02 T, @ AH® e HHAPIA!
e ARTITIR W% 7o s Hdy w4

Or /| 5!
Find the only possible solution to the
problem
Maximize x2y3z subjectto x+y+z=12 10
x+y+z=12 dfmd W X202

AR E® 9 AR gFHE ANy
Rdg =9
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( 9)

(b) Analyze the following market model for

stability : 10
wors frat qw wforR e Rems w4
Qp =10-5P
Qs =-10+20P
dp
'E'{=3(QD =Qs)
Or | w3t

Solve the following simple market
model by (i) Cramer’s rule and
(i) matrix inversion method : 5+5=10

oo il e IwR ¥ (i) R fEw
wiF (i) dfeEim (MEew Tafer@ AWgH
4

QD =a - bP
QS =—c+dP
Qp =0s

(c) If the cost function of a firm is
C = L + 2K and the production function

is Q = LK, then find the value of L and

K so that 50 units can be produced at
minimum cost. 10
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( 10 )

i Q¥ Bedmd  AfSPER I™ T
C=L+2K % 3AMA Toq4 Q = LK =,
@ 50 B o SHfm ES TesimeR AR L
WF KA 94 e 23 AR, Sfaedn|

Or /| <41

A price discriminating firm of monopoly
market has the following demand
curves and cost functions. Find the—

(i) profit maximizing outputs;
(i) profit maximizing prices;
(iii) maximum profit;

(iv) elasticities of demand of the two
price discriminating markets.
4+2+2+2=10

R RSIPs 939 aFEOR TN S
Afsome oIt @A WF IJW ToA Teo A
| R —

(i) T oS JEAPIA BAMI e
(ii) STEH S S 71

(iii) SE® TS
(iv) TR R Rrehiges IwR oIS
ez
P1=60—4Q1
P, =42-3Q,

C=50+12Q, Q=0Q; +Q5
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( 11 )

(d) Given the demand and supply function
for the Cobweb model as follows, find
the intertemporal equilibrium price and
determine whether the time path is
convergent or divergent : 10

ool garEE wifiEl s s @St
TEE A& WEANRS S w1 iy 11 =i
A SifevAl oA (T woEiRl 7], ffy
<+l

Opt =18 -3P,
Qst =—3+4hF,

Or / Gt

- Solve the following two equations : 5+5=10

were A Jo WY FA

d
(i) Ei'"L Sy =10, y(0)=6

(V) Yps1 +3Ye =2, y(0)=5

* Kk K
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